Nominal pressure (hPa)

Nominal pressure (hPa)

(a) Fractional freq. of occurrence (b) Num. tend. due to resolved transport (c) Num. tend. due to DROPMIXNUC (d) Num. tend. due to cloud microphysics

Arctic (66.5-90N), month = 07 Arctic (66.5-90N), month = 07 Arctic (66.5-90N), month = 07 Arctic (66.5-90N), month = 07
600 600 600 - 600 —
—o— CDNC =0.01-9.99 —=— CDNC =0.01-9.99 —e— CDNC =0.01-9.99 B —e— CDNC =0.01-9.99
H —»- CDNC = 30-50 —x- CDNC = 30-50 —%~ CDNC = 30-50 —%= CDNC = 30-50
i -+~ CDNG > 50 _ -+~ CDNC > 50 _ o= CDNC > 50 _ ) = CDNC > 50
700 i r g 700 4 F & 700 4 F & 700 o
1% < < / £
LR o o - [
i H H ¥ 3
80 ¥} - 2 800 [ & s00 4 i 8 800 F
: 5 s ¥ s
4 5 5 ! 3
- - _ L d 4 - - -
900 S 900 S 900 i/ S 900
1
i
- e - el "
1000 T T T T T 1000 T T T T 1000 T T T T 1000 T T T T
0.00 003 006 009 012 015 0.18 0.020 -0.010 0.000 0.010 0.020 20.020 -0.010 0.000 0.010 0.020 0.020 -0.010 0.000 0.010 0.020
Fraction (-) 10°kg" s” 10°kg" s” 10°kg" s
(e) Cloud fraction (f) Mass tend. due to resolved transport (g) Mass tend. due to CLUBB (h) Mass tend. due to cloud microphysics
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